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Input and Output Statments
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% This script file calculates the average points scored in three games.
% The assigmment of the values of the points is part of the script file.

gamel=75;

game2=93; - |"I'he vanébl.es are ass'xgned
3-68 l values within the script file.

game3=68;

ave points=(gamel+game2+game3) /3

>> Chapter4Example2
[The script file 1s executed by typing the name of the ﬁle.]

ave points = - - —
78.6667 The vaniable ave points with its value
>> 1s displayed in the Command Window.

The Variable is defined in the command window : V)35 & yaiell Cay jas _£ )Y
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% This script file calculates the average points scored in three games.
% The assigmment of the values of the points to the variables

% gamel, game2, and game3 is done in the Command Window.

ave points=(gamel+game2+game3) /3

>> gamel = 67; The variables are assigned values in
>> game2 = 90; the Command Window
>> game3 = 81; © -omman o




>> Chapter4Example3 <—[The script file is executed. ]

ave_points = The output from the script file is displayed]

79.3333 in the Command Window.

ame = 7 H .
z> gmmal il New values are assigned to
>> game2 = 70; e
>> game3 = 50; the varnables.
>> Chapter4Example3 <—[The script file is executed again.

ave points =

69 The output from the script file is displayed‘

in the Command Window.

>>
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The Variable is defined in the script file, but a speciice value is enterd in the

command window
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variable name=input(‘'string with a message that
is displayed in the Command Window’)
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% This script file calculates the average of points scored in three games.
% The points from each game are assigned to the variables by

% using the input command.

gamel=input ('Enter the points scored in the first game ')

game2=input ('Enter the points scored in the second game ');

game3=input ( 'Enter the points scored in the third game ')

ave points=(gamel+game2+game3) /3

>> Chapter4Example4 - - .
e e = The computer displays
E n 9 the message. Then the

Enter the po::.nts scored J.n the seoaxi game 91 | (alue of the score is
Enter the points scored in the third game 70 typed by the user and
the Enter key is

ave points = pressed.
76

>>
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prompt = {'enter x'};
def = {20"};
dlgTitle = Input for my program’;
lineNo = 1; % 4l ;s e

answer = mnputdlg (prompt. dlgTitle, lineNo. def):

x = str2num (answer {1}): % 22 ae Jaladll U A pum ) string J: a5
e a2 g W
J Input for my program fz]
erfer
[20
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The disp command :disp <Y -£.Y.)
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[ disp(name of a wvariable) or disp(‘text as string’)]

A e Ui

p>abc=[5 9 1; 7 2 4]:[A2x3atrayisassignedtovariableabc. ]

>> disp (abc) [ The disp command is used to display the abc array. ]
5 S 1l
7 2 4

[The array is displayed without its name. ]

>> disp('The problem has no solution. ') - -
The disp command is used

The problem has no solution. to display a message.

>>
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% This script file calculates the average points scored in three games.
% The points from each game are assigned to the variables by
% using the input command.

% The disp command is used to display the output.

gamel=input ('Enter the points scored in the first game )
game2=input ('Enter the points scored in the second game ')
game3=input ('Enter the points scored in the third game )
ave points=(gamel+game2+game3)/3;

disp(' ') | Display empty line. |
disp('The average of points scored in a game is:') [ Display text. ]
disp(' ') [ Display empty line. |
disp(ave points) [ Display the value of the variable ave points.)

>> Chapter4Exampleb
Enter the points scored in the first game 89
Enter the points scored in the second game 60
Enter the points scored in the third game 82
| An empty line is displayed. |
The average of points scored in a game is: | The text line is displayed. |
[An empty line is displayed.]
77 | The value of the variable ave_points is displayed. |
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yr=[1984 1986 1988 1990 1992 1994 1996] ; The population data is
pop=[127 130 136 145 158 178 211]; entered in two row vectors.

tableYP(: ,1)=yr'; [yr 1s entered as the first column in the array tableYPJ
tableYP(: ,2)=pop"’ :[pop 1s entered as the second column in the array tableYP]

disp(' YEAR POPULATION') | Display heading (first line). |
disp (' (MILLIONS) ') [ Display heading (second line).|
disp(' ') [ Display an empty line_|
disp (tableYP) | Display the array tableYP. |
>> PopTable
YEAR POPULATION : -
(MTLLIONS) [ Headings are displayed. ]
| An empty line is displayed. |
1984 127
1986 130



1988 136 ( The tableYP array is displayed. |

1990 145
1992 158
1994 178
1996 211

The fprintf command :fprintf <Y -£.Y.Y
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Using the fprintf command to display text :4 =l 3 Lall (a =l fprintf ¥ aladiv) ]
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[ fprintf(‘text typed in as a string’)

Gl e i

fporintf ('The problem, as entered, has no solution. Please check the
input data.')

The problem, as entered, has no solution. Please check the input data.
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fprintf('The problem, as entered, has no solution.\nPlease
check the input data.')

The problem, as entered, has no solution.
Please check the input data.
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Using the fprintf command to display a mix of text and numerical data
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frrintf(‘text as string $-5.2f additional text’,
/ variable name)

The % sign marks the Formattmg elements The name of the
spot where the number is (define the format of variable whose
mserted within the text. the number). value is displayed.
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% This script file calculates the average points scored in three games.
% The values are assigned to the variables by using the input command.
% The fprintf command is used to display the ocutput.

game (1) = input('Enter the points scored in the first game  ');

game (2) = input('Enter the points scored in the second game ')

game (3) = input('Enter the points scored in the third game '):
ave_points = mean (game) ;

forintf ('An average of %f points was scored in the three games.',ave points)
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Text % marks the Additional The name of the
position of text. variable whose
the number. value is displayed.

>> Chapter4Example6

Enter the points scored in the first game 75
Enter the points scored in the second game 60
Enter the points scored in the third game 81

An average of 72.000000 points was scored in the three games.
>>

The display generated by the fprintf command
combines text and a number (value of a vaniable).




